
Dataset: Iris Flower dataset

2.5

3.0

3.5

4.0

4.5

4.5 5.0 5.5
Sepal.Length

S
ep

al
.W

id
th

setosa(a)

2.0

2.5

3.0

5.0 5.5 6.0 6.5 7.0
Sepal.Length

S
ep

al
.W

id
th

versicolor(b)

Note: Only two species of flower are displayed



Dataset: Iris Flower dataset

2.5

3.0

3.5

4.0

4.5

4.5 5.0 5.5
Sepal.Length

S
ep

al
.W

id
th

setosa

2.0

2.5

3.0

5.0 5.5 6.0 6.5 7.0
Sepal.Length

S
ep

al
.W

id
th

versicolor

Note: Only two species of flower are displayed



91%

57%

9%

43%

100%

***ns**

(n = 14)(n = 7)(n = 11)

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

4 6 8
cyl

Engine

0 = V−shaped

1 = straight

χPearson
2 (2) = 21.34, p = < 0.001, VCramer = 0.79, CI95% [0.63, 0.84], nobs = 32

In favor of null: loge(BF01) = −10.31, sampling = independent multinomial, a = 1.00
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Fuel efficiency by type of car transmission

Transmission (0 = automatic, 1 = manual)

In favor of null: loge(BF01) = −4.46, rCauchy
JZS  = 0.71
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In favor of null: loge(BF01) = 0.44, rCauchy
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Note: Iris dataset by Fisher.

In favor of null: loge(BF01) = −186.14, rCauchy
JZS  = 0.80
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tStudent(49) = 17.66, p = < 0.001

Species: virginica

In favor of null: loge(BF01) = −45.50, rCauchy
JZS  = 0.71

(iii)



63%
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16% cyl
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4

χgof
2 (2) = 7.68, p = 0.021, VCramer = 0.45, CI95% [0.11, 0.76], nobs = 19

am: 0

In favor of null: loge(BF01) = −0.16, a = 1.00
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χgof
2 (2) = 4.77, p = 0.092, VCramer = 0.43, CI95% [0.12, 0.72

am: 1

In favor of null: loge(BF01) = 0.85, a = 1.00



9.5%23.8%9.5%19%33.3%4.8% χgof
2  (6) = 12,  p = 0.062,  n = 21

16.2%10.8%8.1%18.9%21.6%21.6%2.7% χgof
2  (6) = 8.22,  p = 0.223,  n = 37

50%50% χgof
2  (6) = 5,  p = 0.544,  n = 2

11.6%18.6%20.9%9.3%23.3%4.7%11.6% χgof
2  (6) = 8.28,  p = 0.218,  n = 43

18.8%12.5%6.2%37.5%18.8%6.2% χgof
2  (6) = 10.25,  p = 0.115,  n = 16

100% χgof
2  (6) = 6,  p = 0.423,  n = 1

4.4%17.8%20%11.1%11.1%15.6%20% χgof
2  (6) = 6.18,  p = 0.404,  n = 45

14.3%14.3%28.6%42.9% χgof
2  (6) = 8,  p = 0.238,  n = 7
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χPearson
2 (42) = 55.71, p = 0.076, VCramer = 0.12, CI95% [−0.05, 0.07], 

Quality: Fair

In favor of null: loge(BF01) = −7.86, sampling = poisson, a = 1.00

22.2%22.2%22.2%33.3% χgof
2  (6) = 7.33,  p = 0.291,  n = 9

6.6%9.4%13.1%16.4%19.7%23%11.9% χgof
2  (6) = 33.99,  p ≤ 0.001,  n = 244

5.6%5.6%14.6%23.6%24.7%18%7.9% χgof
2  (6) = 24.97,  p ≤ 0.001,  n = 89

7.6%8.1%13.1%16.2%16.2%26.3%12.6% χgof
2  (6) = 33,  p ≤ 0.001,  n = 198

3.7%8.4%14.2%26.3%15.8%22.1%9.5% χgof
2  (6) = 50.28,  p ≤ 0.001,  n = 190

4%8%12%16%32%20%8% χgof
2  (6) = 9.44,  p = 0.15,  n = 25

6.3%9.9%19.9%16.2%17.5%15.2%14.9% χgof
2  (6) = 27.42,  p ≤ 0.001,  n = 302

0.8%6.9%10.8%26.9%20.8%24.6%9.2% χgof
2  (6) = 53.08,  p ≤ 0.001,  n = 130
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color
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D

χPearson
2 (42) = 64.05, p = 0.016, VCramer = 0.06, CI95% [−0.01, 0.04], 

Quality: Very Good

In favor of null: loge(BF01) = 14.79, sampling = poisson, a = 1.00

15.8%21.1%21.1%31.6%5.3%5.3% χgof
2  (6) = 10.11,  p = 0.12,  n = 19

4.5%9.2%10.6%21.4%15.5%20%18.8% χgof
2  (6) = 82.6,  p ≤ 0.001,  n = 490

1.8%10.7%16.9%27.6%22.2%15.1%5.8% χgof
2  (6) = 76.93,  p ≤ 0.001,  n = 225

3.3%10.7%16.2%21.4%15.9%17.7%14.8% χgof
2  (6) = 38.32,  p ≤ 0.001,  n = 271

5.3%13.2%15.4%26.4%14.9%14.9%9.8% χgof
2  (6) = 62.31,  p ≤ 0.001,  n = 356

2.4%11.8%15.7%44.1%19.7%3.1%3.1% χgof
2  (6) = 117.01,  p ≤ 0.001,  n = 127

5.3%12.9%14.5%16.6%13.1%18%19.6% χgof
2  (6) = 39.81,  p ≤ 0.001,  n = 434

2.1%5.8%13.6%31.3%19.3%18.5%9.5% χgof
2  (6) = 98.33,  p ≤ 0.001,  n = 243
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color
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D

χPearson
2 (42) = 153.32, p = < 0.001, VCramer = 0.09, CI95% [0.06, 0.10

Quality: Ideal

In favor of null: loge(BF01) = −25.04, sampling = poisson, a = 1.00



2

4

6

8

80 100 120 140 160
length

ra
tin

g
genre: Comedy

2

4

6

8

100 150 200
length

ra
tin

g

genre: Drama



20

25

30

35

40

45

20

25

30

35

40

45

1.75 2.00 2.25 2.50 2.75
displ

hw
y

hw
y

t (79) = −6.93, p = < 0.001, ρpb = −0.61, CI95% [−0.73, −0.46], npairs = 81
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t (77) = −5.13, p = < 0.001, ρpb = −0.50, CI95% [−0.65

Cylinder count: 6
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t (68) = 1.25, p = 0.216, ρpb = 0.15, CI95% [−0.09, 0.37], npairs = 70

Cylinder count: 8
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I Heart Huckabees

Jake's Booty Call

Meet the Parents
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Wag the Dog

Zero Effect
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t (5) = 0.84, p = 0.439, rPearson = 0.35, CI95% [−0.55, 0.87], npairs = 7

Genre: Comedy
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Friday Night Lights

Girl, Interrupted

Husbands

Japanese Story

Modigliani
My Family

One True Thing

Owning Mahowny

Panic Room

Sleepers

Sunshine State

Talented Mr. Ripley, The

110

130

150

0 20 40 60
budget

le
ng

th

t (14) = 2.67, p = 0.018, rPearson = 0.58, CI95% [0.12

Genre: Drama

All movies have IMDB rating equal to 7.
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tStudent(18) = −3.90, p = 0.001, gHedge = −0.86, CI95% [−1.40, −0.34], npairs = 19

order: 0

In favor of null: loge(BF01) = −3.56, rCauchy
JZS  = 0.71
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tStudent(14) = −1.58, p = 0.136, gHedge = −0.39, CI

order: 1

In favor of null: loge(BF01) = 0.32, rCauchy
JZS  = 0.71
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 µ = 5.006, CI95%[4.906, 5.106]

 µ = 5.936, CI95%[5.789, 6.083]

 µ = 6.588, CI95%[6.407, 6.769]
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